Sorting Functions J‘_-‘

On the next page are four graphs, four equations, four tables, and four rules.

Your task is to match each graph with an equation, a table and a rule.

1. Write your answers in the following table.

Graph Equation - Table Rule

A c v B/ 4/
= p V A/ c/
c 6 v c v D v
D AoV D/ g v

2. Explain how you matched each of the four graphs to its equation.

Graph A CrrapL/) 1sn'Fa linear equﬂ//m minte it IS f%/ﬂ/qﬁf//ﬂf
_50 there mucH be a Squared in ﬂccqwz‘wﬂ | 450 [2 l/) and
dound #e celarion ship betuees e Xy y f-X?_

Graph B Gmlph B, a 51‘@:th [‘mel, 1sa lirear equaf)om )/:ye—z
35S *H«con\/j Lirear eslua‘/v‘()n (n te chao/ces. v ,

Graph C GMPA Cis élo/cvmv;. So r/' pk equa o 5\/\/7,)( f}

x He Same s NN ﬂzax cand be anegative #H’/Wr(
o A of a ncmhva numper), dhe_matimum XWO%# g Qa8 shown o
Graphp _Gldph D las 2 fepam/e fne i ks equation IV
A_se the neadﬁVEJ il shay in_#e all nem%wa g uadidn - a2
and_the poclhm wif shzu " 1“64// naghl/e ?uac//ﬂn/' / l
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Equation A Rule A
Table A
Xy =2 y is the
20-110(1121(3 ‘same as x
—al 3210 [ multiplied
4
-6
Graph B Equation B ; Rule B
Pt Table B _
v =x x
2[-110(112(3| | multiplied
d equal to 2
Grabh C Equation C Rule C
| Table C
L yis 2 less
‘ O|xNx3+3+
-6 -4
Rule D
Table D
y=x-2 x is the
~ -2|-110|1|2|4| |sameasy
1]-2lxe 2 [1 0.4 | multiplied
by y
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Sorting Functions Tg

On the next page are four graphs, four equations, four tables, and four rules.

Your task is to match each graph with an equation, a table and a rule.

1. Write your answers in the following table.

Graph Equation Table

A C J
B D /
C & /
D | A J

SIERIE AW

/
/
/
/

2. Explain how you matched each of the four graphs to its equation.

Graph 4 {his gcagh showed o for sath gﬂa\uel, Yere wefe 2 x-valucs.
ihe go,uahor\ wos C because Yuou could f&‘* a ¥/~ vuwber of .3 but He ]
vl would be He same

Graph B | s agagh was \inenr , 5o there was ov\% ore preble sclution whatever
Awrmber You ?lﬂ‘m.‘ﬂ% p\gn\uceg\' wae, -2. F @ua!fim malched Ha
r%wmm\s' | e |
Graph ¢ This qyaph chowed lak for eadn X-valut, Aere couldloe ko y-vabues .
The e(buakon was B sine ke guation € vt is quabiatic, m}d\m\,ﬂx |
M guaduic  gragh

Graph D This qraph was, Q%utd}ioh A) since A wre o ord:, J
ore \ebt, ~ e

l
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Equation A Rule A
o Table A
] xy=2 y is the
N x[-2[-110[1]2]3 same as x
e i y |-4]-3]-2[-1] 01 multiplied
GraphB | Equation B Rule B
e Table B
X
x|-2[-110]1[2|3] | multiplied
equal to 2
Rule C
B Table C
4 _U2 yis 2 less
y 0 |x1£2+3 14
6 -4 -2 O
GraphD . Equation D Rule D
Table D
y=x-2 x is the
x|-2[-110[1]12|4 same as y
y |12t 2]10.§ | multiplied
by y
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Sorting Functions

On the next page are four graphs, four equations, four tables, and four rules.

Your task is to match each graph with an equation, a table and a rule.

1. Write your answers in the following table.

Graph Equation Table

S A

r
i
5,
o
o
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Equation A

Rule A
e Table A
Xy =2 yis the
MEEIRNEEEAE same as x
N v -4[-3[-2[-1[o multiplied
Graph B Equation B Rule B
d | X
x|1-2[-110]1/2]3 multiplied
yl4[1]o]1]4]9 by y is
equal to 2
Rule C
Table C ,
_ yis 2 less
0|x1)x2+3+4
-4
Rule D
Table D
y=x-2 x is the
'x[-2]-1lol1]2]4]| |sameasy
y-1]-2[t 2] 70 multiplied
| by y

.
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Sorting Functions - 1—4

On the next page are four graphs, four equations, four tables, and four rules.

Your task is to match each graph with an equation, a table and a rule.

1. Write your answers in the following table.

Graph Equation Table Rule

A C

B D

C B

CINOINOIS
I 0> @
SN NS
@)
N

| A

2. Explain how you matched each of the four graphs to its equation.

Graph4 _\ ‘FbW\d (2—», 4) on %& gral:L"\ Q—V\d

Snce 4=2*, the equation IS y=x* v

Graph B | 'FOU!\O{ ("2,""&) o "A"\Q ara,bf\ O..V\d

S5ince  -H4=-2-2, the tquation i§ y=x-2 |

Graph C ‘ \ WY\U\ QL‘/ ZL M) (4"2) @ﬂd Sinté

b =7 o (2} the @quation us y*ex

Graph D A
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Equation A i

Xy =2

Table A /

Rule A /

yis the
same as X
multiplied
by x

Equation B /

Rule B /

X
multiplied
by y is
equal to 2

Equation C/

y=x?

Table C./

(@

(@

BN
H1|w
m

H]|—=
+
[AN]

"RuleC/

yis 2 less
than x

Equation D /

y=x-2

Rule D /

x is the
same as y
multiplied

by y-
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Sorting Functions

15

On the next page are four graphs, four equations, four tables, and four rules.

Your task is to match each graph with an equation, a table and a rule.

1. Write your answers in the following table.

Graph Equation Table Rule
A < v p A
B b A S ¢c
C B/ cC v P/
D A/ b/ B A

2. Explain how you matched each of the four graphs to its equation.

Graph 4 T alveady knew e grapn iv be =32 frove my algebra dase, but et 4o be

cer{ain T plugged come ponts on the line (ndo yox?.

4) 4= > 44 v/ (LAY

[= (V22— 1=t v Theee poinkd worked, S0 T \wrote down @quation (

e l

Graph B thi¢ qraph wae d linear Bqudahien, with 4 clope of | and a y-intercepy of -,

(o, UCing the ¢randard equdtion Yk v —» y:x-+2, T found the equarion for the

QYG\‘pL hye ggMdtion warthed equation D, <0 T wrote D down.

v

Graph C 1 figured iht’ equayion foy it graph Wwould be comewnat vevere of Yne l

eguation fov Graph A, cince the (hape Wac \ike that of a quadiatic, bwt rotated go°

yi-x (eemed 1o Bt ¥ndy, and T also v\\l\qch (om¢e points on Graphne int u =X, (%2 1) -

4-v 4:4v 0,0 =1\ = :lv The poi nit worked, <o T Wrore equdpion B down. |
Graph D £ Yhowgh T wa¢ wnfamitiay With ne ¢hape o Graph D, €quatonA

Was Yhe only qu\mh \eft v mdtch with q quh, (o Yhevefore Qvaph P and eqvation

A YoMt go YugRiner. T alco Uggcd i point from graph b jnte wy=2 (3,1) — |

1022 =2:2V  (;2) = (1)) 22 2 1:2 v These points wovked, (o 1 wvvm\/

gquahon A down.
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Equation A Rule A
o Table A
e Xy =2 yis the
— g v [-4|-3[-2[-1[0 1 multiplied
Graph B Equation B ‘ Rule B
Table B
Y =x T | K
| x|-2-110111213] | multiplied
y|4(1(0111449 by yis
equal to 2
Graph C Equation C | "Rule C
- Table C
8 is 2
4 -2 yis 2 less
y|0|21|x3+3 14
6 -4:-2
Graph D Equation D Rule D
Table D
y=x-2 x is the
x|-2-1]0]1]2]4| |sameasy
y|-1[-2]t=[2 [1]0.5 | multiplied
_ by y
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